De"éhce murum

CDS MATHEMATICS TEST PAPER —(0804)

Time: 120 min.

M.M: 100

INSTRUCTION: Read questions carefully. For each wrong answer, one-third the marks assigned to that question

(0.33) will be deducted. Each question contains (1) marks/ 93=f &) sarqd® 4feV | e Tdd 9wk @ forw, fav v

Iwl ¥ 4 tp—faBE (0.33) 3P B AR | @S U (1) (b BT 2

1. Ifa+ i = /3 then the value of a% + ;2 is:/

aﬁ{a+§=\/§§ﬁﬁa52+a%wwwm?
(a) -1 () 0

()1 (d) 2

If x2 + Xi = 1 then the value of x*%% 4+ x% +
x0 +x8 + x84+ x"2+ 5 is/ afy x? +X12= 1
goar X2+ X%+ X0+ X+ X+ X2 +5
B A FIT BII?

(a) O (b) 5

()3 (d)1

Find the value of a and b if (x-1) and (x + 1)
are factors of x* + ax3 + 3x?> + 2x + b/a 3R b
@ AF sd ey Ak (x-1) iR (x+ Dx* +
ax3-3x> +2x+b & ds 2|

(a) 2t (b) 2,1

(c)-2,2 (d)1,-1

Find the minimum value of x which the
expression x3-7x% + 11x-5 > 0 ./x &1 =Adq 8
S Y S TR x3-7x2% + 11x-5 > 0 &I |q<
Eadl

(a) O (b) 5

(c)1 (d)-3

If x2 + Xlk = 1, then the value of x*® + x'? +
x+1is o/ afx X2+Xi2=1, ar x1® +x12 +
x® + 1 &1 79 fbaer 8rm?

(a) 1 (b) 2
(c)o (d)-1

2 2 2
. a+ b+ c=0then the value of%is/ﬁ

DC+Ca

2 2 2
a+b+c:06ﬁﬂzﬁrwﬁv—cmm?

ab+bC+Cca
(a) 2

(b)-2
(c)O (d) 4

If x=(104 3V11), What is the value of
(Vx-L) 2/afs x = (10 + 3y11) . ar (Vx-—
AN VX7 AN VX7

BT {9 T BIT?

(a) 243 (b) V22
(c) 18 (d) 32

8.

10.

11.

12.

13

If x = ‘a3 e SVOPRP %, Then the value

Jab\/a 33

of xis Ife x = ‘a3,— ............ o, 2 dl X

JabJa 3«55

BT H19 BIIT?

(@) 5> pzp

(€) 6 — (d)5 =
Vda o v o
m-3a3 m-3b3 m-3¢3
If —— + —— + —— =9, then the value of
DY +CY CoTd a”+D
. m-3a® = m-3b3 m-3c3
m_is:/ e — 4 —— ——— =9, m &
b3Fc3— o3 Fad asFb3
A4 b 87

(a) a3 + b3 + 3

(b) 2a3 + 2b3 + 2¢3

(c) 3a3 + 3b3 + 3¢3

(d) 2

If  the ax> + 4x* + 3x-4 _and
x3-4x + a leave the same remainder when
divided by (x-3), Find the value of a./af¢ ¥8ug

ax3 + 4x% + 3x-4 wd x3-4x +a B (x-3) ¥ 9T
P R AT THH Ui BT 2 1 a

BT A S HIFTY

(a) 1 (b) -1

(c) 2 (d)-2
lfa?=b+cb?=a+c.c?=Db+a,then what

will be the value ofi + . + L?/ afg

D+1 C+1

a’=b+cb*=a+cc’ =b+a, 2, al

polynomial

L L+Laﬂﬂmzﬂﬂgﬁm?
at+1l D+1 C+1

(a) -1 (b) 2

(c)1 (d)o

A circle is inscribed in a square of side 35 cm.
The area of the remaining portion of the square

which is not enclosed by the circle is/35 5. .
Yol Il U ¥ & 3f7axX U Jod Widm oIl 8, ol af
H g9 U S8 BT &5hd SITd By

(a) 962.5 cm? (b) 262.5 cm?

(c) 762.5 cm? (d) 562.4 cm?

. The area of the ring between two concentric

circles, whose circumference are 88 cm and 132
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14.

15.

16.

17.

18.

19.

cm, is/T dp= i, el aRfT ss wEder 132
. 8, & gRT IfART T &7 &5l S dy?

(a) 78 cm? (b) 770 cm?

(c) 715 cm? (d) 660 cm?

The sides of a triangle are 3cm, 4 cm and 5 cm.
The are (in cm?) of the triangle formed by
joining the mid points of this triangle is :/ t&
s @& qod 3 . 4 . der 5 I B 39
B3 &1 gl & "eafegei o e 9 9 B
B &ha (FH) ¥ 2

(a) 6 (b)3

(c) > (d) 2

Three circles of radius 3.5 cm each are placed in
such a way that each touces the other two. The
area_of the portion enclosed by the circles

is/d9 gaal, 9 9 ude @Y Broar 3.5 9L 8 @l

39 UHR W@ Ol B b U¥® g = qFi g
T PI WRI PRAT & | S99 gl g UREE 9T B

AP ¥ |

(a) 1.975 cm? (b) 1.967 cm?

(c) 19.68 cm? (d) 21.22 cm?

Four equal sized maximum circular plates are

cut off from a square paper sheet of area 784

sg. cm. The circumference of each plate is (Take

22 ~ .
™= 7)/ IR T AHAH MHR DI JallhR e

P UH TMHR BETS Bl e 91 eoma 784
THIER & W BIeT A1 B | UAd e I aRf @I g |

(a) 22.cm (b) 44 cm

(c) 66 cm (d) 88 cm

The circum-radius of an equilateral triangle is 8
cm. The in-radius of the triangle is/f&0 Hag
s & aRgaa & FBrsar 8em B 1 B & s &
o g w2

(a) 3.25cm (b) 3.50 cm

(c)4cm (d) 4.25 cm

The area of circle whose radius is 6 cm s

trisected by two concentric circles. The radius
of the smallest circle is/f&< I &1 &=l T
3 6 ML 8, &1 Heig gl g1 dIF 9§ dfer
SITAT 8 | 999 B god @) B sid ay?

(a) 2v/3cm (b) 24/6 cm

(c) 2cm (d) 3cm

The area of the shaded region in the figure
given below is/f&a T I ¥ BHIifed AFT @

ST BY?

1€ Q>

20.

21.

22.

23.

24.

(a)i(E_ﬂ sg. units
Z \4 J

(b)aZ (m-1) sq. units

(c)a? (T-1) sq. units
\Z V4

(d)z—f (1-1) sq. units

A circle is inscribed in an equilateral triangle of
side 8 cm. The area of the portion between the
triangle and the circle is/ 8 TS arel HHETE
Bt & IR T g e | e 9 9 B
a0 Rad WIF &1 &5hd S0 H?

(a) 11 cm? (b) 10.95 cm?

(c) 10 cm? (d) 10.50 cm?

ABC is an equilateral triangle of side 2 cm. With
A, B, C as centre and radius 1 cm three arcs are
drawn. The area of the region within the
triangle bounded by the three arcs is/2 JH. T

P a8 31 A ABC 1 =g A, B, C & &=
AP 1 4. 3o aret 3 99 991 O 8 | < el
ERT FBre & HIdR o7 &% d STd Be?

(a) (3v3-2) cm?
(b) (v/3-22) cm?

(c) (/3-2) cm?

T

(d) (=-v/3) cm?

If chord of length 16 cm is at a distance of 15
cm_from the centre of the circle, then the
length of the chord of the same circle which is
at a distance of 8 cm from the centre is equal

to/fll Id & B= W 15 . T W 16 IHL P
Sirar Rerd €1 S Sfldl &) o Ts Si1d BN, ol b= 3
8 I ® Rera &7

(a) 10cm (b) 20 cm

(c)30cm (d) 40 cm

Two circles with centre A and B and radius 2
units touch each other externally at ‘C’, A third
circle with centre ‘C’ and radius ‘2’ units meets
other two at D and E. The the area of the
quadrilateral ABDE is/2 unit 31 arel &1 gt &1
B A T B 8 9 9 fig C R 9189 W axd 1 U
C P= TAT 2 unit 31 ara IRRT 9 <l gl al
fd=g D dom E w31 @xar 2 | Ig4sl ABDE &1 &F%ha
ST h?

(a) 2v/2 sq. units

(b) 343 sqg. units

(c) 3+/2 sqg. units

(d) 2v/3 sq. units

A circle is inscribed in an equilibrium triangle
and a square is inscribed in that circle. The ratio
of the areas of the triangle and the square
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25.

26.

27.

28.

is/fofl HHaTE B9 @ R Ud 9d Bl 9 @
X TP I & | Pr{eT o a°f &1 U S He?

(a) V3:4 (b)/3:8

(c)3v3:2 (d)3+v3:1

Three circles of equal radius ‘a’ cm touch each
other. The area of the shaded region is :/ “a”

cm Brr arer 9 9d Uh—oxR Bl 918 U H el
BYd © | BIfhd 9T BT &% 1d He?

C

(a) (@\ a%sq.cm
\ <4 7

(b) I(@\ a%sq.cm
\ Z 7

(c) (+/3-m)a%sq.cm

(d) (Mﬂ\ a%sq.cm

Nz /!
A is the centre of circle whose radius is 8 and B
is the centre of a circle whose diameter is 8. If
these two circles touch externally, then the
area of the circle with diameter AB is/8cm r=ar

qlel Iod B D= A ® O 8 cm N dTel I &l b
B ©| ufe Tl gt 918y ®U ¥ W3 &=d &, a9 AB

AT dTel I BT &%l ST he?
(a) 36m (b) 64 m
(c)144 (d) 256 1t

A conical cup is filled with icecream. The ice-
cream forms a hemispherical shape on its open
top. The height of the hemispherical part is 7
cm, the radius of the hemispherical part equals
the height of the cone. Then the volume of the

ice-cream _is [T[ = ?]/QEB v IS A R B |
Yh b HFUR IMSUDIH Th Agid Bl AMHR o ol
21 ST B Fae 7 WAL 2 e B Broar e
g B SHdTs THH T | ST BT IIAT S BN |
(a) 1078 cubic cm

(b) 1708 cubic cm

(c) 7108 cubiccm

(d) 7180 cubic cm

A hollow sphere of internal and external
diameter 6 cm and 10 cm respectively is
meleted into a right circular cone of melted
into a right circular cone of diameter 8 cm. The
height of the cone is/6 . 3<% TaT 10 THL.
I I dTell @RIl Iig bl Ugerds 8 dHl. a9

29.

30.

It ¥ § uRafda feanr | 3 & Sag Sid
PRI?

(a) 22.5cm (b) 23.5 cm

(c) 25.5cm (d) 25.5 cm

A flask in the shape of a right circular cone of
height 24 cm is filed with water. The water is
poured in right circular cylindrical flask whose

radius is%rd of radius of the base of the

circular cone. Then the height of the water in
the cylindrical flask is/f&=il 24 . a8 A 3|
B U A WRT IAT| U1 BT Uh d bR a3 H gerel
mewaﬁﬁwwiélw
I H U B AT ST BRI?

(@) 32cm (b) 24 cm

(c) 48 cm (d) 72 cm

A solid metallic spherical ball of diameter 6 cm
is melted and recast into a cone with diameter

of the base as 12 cm. The height of the cone

is/6 ). A drell fig @l fgamaR 12 99, I
qrel 3w H uRafid fhar ) viw @ Sars 3|
BRI?

(a) 2cm (b) 3cm
(c)4 (d) 6 cm
31.If tan O =1, then the  value of
8 sin 6+5 cos 0O .
Sin -4COS COS 13
(a) 2 (b) 27
()3 (d)=
32. If% = 3 then then value of sin* 6 cos*8
is
1 3
(a) 2; (b)i
33.If sin B-cos B = 0, then what is sin* 8 + cos*0
equal to?
(a) 1 (b)>
(c)= (d)-
34.1f sin® + cos ® = /3, then what is tan 6 +
cot 6 equal to>
(a) 1 (b) V2
(c)2 (d) V3
35.1f tan O + sec® = m, then what _is secO equal
to?
m2-1 m2+1
(a) ZIN (b) ZTIN
(c) =t (d)
36. If cosA + cos? A = 1, then what is the value of

2(sin%A + sin*A)?
(a) 4

(b) 2
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37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

()1 (d)1/2
If sec + tan® = 2 + /5, then the value of
sin® 4+ cos O is ;

(a) =

(c) Vlg

(b) V5
(d) =
Vo

1 1
The value of: -
cosecuo-coto sSIno

(a) 1 (b) cot®
(c) cosec© (d) tan ©
If cos 8 + sin® = v/2 cos 0, then cos O -sin 6 is
(a) v/2 tan® (b) V2 cos8
(c) -v/2 sinB (d) V2sin6
The value of sec 6 (1+sm9 cos®

\ COSU 1+S1ng/
-2tan®@ is
(a) 4 (b)1
(c) 2 (d)o
Find the value of 1 — 2 sin? 6 + sin* 6,
(a) sin*@ (b) cos* 0
(c) cosec*® (d) sec*8

1+sin6 + ’1-sin9 is equal to
\J 1-SIno Y I+sInt
(a) 2cosB (b) 2sin O
(c) 2cotB (d) 2secB
tanx tanx

What is the expression equal to?

1IT+sSeCXx 1-5€CX

(a) cosecx (b) 2 cosecx

(c) 2 sinx (d) 2 cosx

If tan@ = %% then sina + cosa and
SIN 0X+COo0SO

sin a- cos o are equal to

(@) V2 cos 8,v/2sin6

(b) v/2sin 6,4/2 cos 8

(c) V/2sinB,+/2sin 6

(d) V2cos6,v/2 cos 6

2sin?B + 4 cos(a + B) sin asin B + cos?(a +

=?
(a) sina (b) cos?B
(c) cos’a (d)sin?f

The value of c0s12° 4+ cos84° + cos156° +
cos132%is

(a) 5 (b) 1

(c)-~ (d) -

If x = cos10° cos20° cos40°, then x =?
(a) itanlO0 (b) %tan 10°
(c) icoth0 (d)icoth0

sin12°%sin24%sin48%sin84° =?
(a) cos20° cos40° cos60° cos80°

49.

50.

51.

(b) sin20° sin40° sin60°%sin80°
(c) = (d) =

106 106
tan 5x tan 3x tan 2x =?

(a) tan 5x- tan 3x-tan2x
(b) O

sin6x-sin3x-sin2x
(c) TOS5X-COS3X-COSZX

(d) tan9x
If :2; = pand % = g,thentanx =?
(a) p ]ﬁ (b) p 9?1

qV D> qV P>

-q2 2_

(@2 X2 OENE=

TV D PN ID
Two poles of equal height are standing

opposite to each other on either side of a road
which is 100m wide. From a point between
them on road, angle of elevation of their tops
are 30° and 60°. The height of each pole (in
meter) is/fFl /A B TET IR QT RER_dAdlS B
T Royd 21 R B 72 Rerd th fig 9 o™ &
S~ ®1v1 30° 91 60° ! 9§ |

(a) 25v3 (b) 203

(c) 28v3 (d) 30v/3m

52.

There are two vertical posts, one on each side of a

53.

road, just opposite to each other. One post is 108
metre the angle of depression of the top and foot of
the other post are 30° and 60° respectively. The
height of the other post (in metre) is/fH¥0l IR &
THl IR T T Red 21 T WY P Hars 108 HIex
2 39 Y B 9w fdg W R @Y & Swd fdg der
forg fidg & sraadd ®ror 30° qem 60° B TR Wy
D AHE ST BN |

(a) 36 (b) 72

(c) 108 (d) 110

Two post are x metres apart and the height of one

is double that of the other. If from the mid-point of
the line joining their feet an observer finds the
angular _elevations of their tops to be
complementary, then the height (in metres) of the
shorter post is/al WY x H. X R Rerd & 92 s
G P HAls gR P IUETT ST B | AT SHd Ty
T3 fdg 3 S0 Sw el & S+ BT Uh—g3ix
P Rb &l, 99 BIC GH Pl HATS Td B |

()= (b) >

2V 72 X
(d) =
2

() xv2

54.

Two circles touch externally at P. QR is a common

tangent of the circles touching the circles at Q and
R. Then measure of 2QPR is/al I Uh—gdX Pl
fog P = wef oxd €1 QR T @ SIS ¥Rt Nwar
g, O M gl @ fdwg Q 9 R Wl #Rdl 2|
£QPR &1 A9 1d $?
(a) 120°

(b) 60°

(c) 90° (d) 45°
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55.

Each of the circles of equal radii with centres A and

B pass through the centre of one another circle they
cut at C and D then «DBCis equal to/al aRTeR
Sroamel arer 9o A UG B @ dTl Jad Udh—GR Bl
fd=g C @ D R yfo=efed o=d € dJ1 (- &
P= ¥ TTorRd & | £DBC &1 A SId &e?

(a) 60° (b) 100°

(c) 120° (d) 140°

56.

If O be the circumcentre of a triangle PQR and

£QOR = 110° 20PR = 25° then the measure of
£PRQis/APQR#, O f3rst &1 uRa= & Tom ZQOR
=110°20PR = 25° 8 @9 £PRQ &1 99 M H?
(a) 65° (b) 50°

(c) 55° (d) 60°

57.

If the AABC is right angled at B, find its

circumstances if the sides AB and BC are 15 cm. and
20 cm_ respectively./, g\ AABC, &1 I
2B =90° 2| AABC & uRqgey & f3rar siid v,
Ifg o AB AT BC &) oIFTs 15 cm @21 20cm & |
(a)25cm (b) 20 cm

(c) 15 cm (d)12.5cm

58.

If two concentric circels are of radii 5 cm and 3 cm,

59.

then the length of the chord of the larger circle
which touches the smaller circle is :/ 3 cm T 5 cm
A BN Sl BIC I bl I Bl 87
(a) 6cm (b) 7 cm
(c)10 cm (d) 8 cm
AD is the chord of a circle with centre O and DOC is

a line segement originating from a point D on the
circle and intersecting AB produced at C such that
BC = OD. If «BCD = 209 then ZAOD =?/ 0 &=
qrel god @ ol AD & @1 DOC Ud YERIUS & oif D
YR BIHR, @1 AB & fag C R fAerar g qem BC
= OD | afe «BCD = 209, then £AOD =?/ 0 &=
qrel god @) o1 AD & @21 DOC Udh YERIUS & it D
I UR™ BIHR, X1 AB Pl fa=g C o= fAerar g qem BC
=0D | afg =«BCD = 20° %, @@ £AQOD =?

(a) 20° (b) 30°

(c) 40° (d) 60°

60.

In a circle of radius 17 cm, two parallel chords of

length 30 cm and 16 cm are drawn. If both chords
are _on the same side of the centre, then the
distance between the chords is/17 cm 3= e
Jd H &l AR Sidr 30 cm G 16 cm TS &l
Wl 715 | Al SE1 Sidr, g & ®= & Udb AR 8l al
T Sfrarelt & i & S1d Be?

(a) 9 cm (b) 7 cm

(c) 23 cm (d)11cm

61.

If average of 14 consecutive even humbers is 107.

62.

Then, find the smallest number?

(a) 93 (b) 94

(c) 92 (d) 89

The average of 35 consecutive natural numbers is N.

Dropping the first 10 numbers and including the

63.

next 10 numbers, the average is changed to M. If the
value of M*N?=600, then the average of 3M and 5N

is:/35 TRITATL AThide HeATst T |a N 21 72t
10 Ha% T BISHL AT 3 10 q% il 9
L4 g0, 3Ed M ¥ Fg Srar 21 7t M2-N?=600
T A9 &, aT 3M 3f¥ 5N =7 fiHq 2

(a) 90 (b) 120

(c) 100 (d) 115

If the average of 13 distinct integers is 58. Maximum

how much numbers can be greater than 58?/3f% 13

30 qurieht =1 sierd 58 21 stfaera s fhaeT deard

58 & T 21 Hohell 22
(a) 8 (b) 10
(c)11 (d) 12

64. An alloy is prepared by mixing three metals A, B

65.

and C in the proportion 3 : 4 : 7 by volume. Weights
of the same volume of the metals A,.B and C are in
theratio5:2: 6. In 130 kg of the alloy, the weight,

in kg of the metal C is/& &t A, B 3T C i
AT F 3:4:7 F FAITT H AT UF THgemq

T 1 AT 21 et AB 3T C ¥ IHH 3 gd &
WX 5:2: 6% JqUTd | 2| fegeng * 130 FF #,

qqCHF AR d g
(a) 96 (b) 84
(c) 70 (d) 48

While making a sugar solution of 3 liters containing

66.

40% sugar for a sweet, one litre of water is added.
The percentage of sugar in the new solution is?

us =TS ¥ forT 40% it o<k 3 wfiex 1 =i+ #r
HIe T HH U Al IIHT (He T ST 21 90
HIe H =T 7 Tfaerd 22

(a) 33.33% (b) 25 %

(c)30% (d) 20%

Three bottles of the same capacity are 30%, 40% and

67.

25% full of orange juice, respectively. They are
filled up completely by adding apple juice. The
contents of the three bottles are emptied into another
vessel. What is the percentage of apple juice in the
mixture?/THT &T8dT it N9 dias w39 30%,
40% 3T 25% Td¥ F T 9L &1 T F:T I

o s O G s R K e s A e s K e A s AR L
] B K e M e 0 L s A e e s e

TH 1 giaera Braar 22
(a)72% (b)65%
(c)51% (d)68%

The difference of two positive number is 1020. If

68.

7.6% of the greater number is 12.4% of the smaller
number, then the sum of two numbers is equal to:
2 AT HEATsH 1 ¥ 1020 21 Ffs It 5
FT 7.6% e 64T F1 12.4% 2, q1 ar dearEt

T IRT F7E7 &
(a) 3250 (b) 4250
(c) 4520 (d) 3520

If house tax is paid before the due date, one gets a

reduction of 12% on the amount of the bill. By
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paying the tax before the due date, a person got a
reduction of ¥ 2,100. The amount (in %) of house tax

paid was:/fAaa aE | 92 ET3H S &l SFTdH
LA 9 Tt it T 72 12% FY FHr et 2137
2 e i e A e s s e L T i T 1 B

2,100 T FH HTATH FLAT TET| AT il TS T2

F¥ it fer (2 /) off:
(a) 21,000 (b) 15,400
(c) 25,000 (d) 17,500

69. The volume of the water in two tanks, A and B, is in
the ratio of 6: 5. The volume of water in tank A is
increased by 30%. By what percentage should the
volume of water in tank B be increased so that both

the tanks have the same volume of water?/aT 2% A
FTB A R AT 6:5 FAIa a2 SFAH
aret Y W H 30% # i Erdt g1 4 B # arer
1 2 e K R e 2 R L I D K A e 2 L

AT ST AT THTT 2172
(a) 56% (b) 18%
(c) 15% (d) 30%

70. Pipes A and B can fill a tank in 16 hours and 24
hours, respectively, whereas pipe C alone can empty
the full tank in x hours. When all the 3 pipes are
opened together, the tank is full in 20 4/7 hours.
What is the value of x2/qT27 A 3T B T & &l
FHI: 16 e T 24 5 § 9T Hohd &, et TET
C 3T &%h %0 X S B GTel ¥ qehdl gl S T4 3

ISl Uk {19 Gl 21 St 2, a8 20 4/7
=2l § W ST gl U il JoF #4782
(a)12 (b)18
()15 (d)20

71. A pump can fill a tank with water in 7.5 hours.
Because of a leak in the tank it takes 50 minutes
more to fill the tank. The leak can drain all the water

from the tank in:/us o9 FReT &1 1 7.5 = § U
L e B O T M I s e e 1 e M 2 W e
50 T rfde =g 21 fera & 9 g arh A

HehdT %:
(a)75hrs (b)25hrs
(c)80hrs (d)50hrs

72. Manjeet bought a second-hand motorbike for Rs
22,000 and spent Rs 3,000 on its overhauling and
maintenance. He then sold it with 12% profit. It he
had sold it for Rs 500 less, then what would have
been his profit percentage?/"=stia 7 22,000 =4¥
T U Aohe 22 AIeTATS e Giial 3i¥ SHehl T3Fd
i TavEE 17 3,000 *0 g= fhu| e sad =
12% = 92 o= foam = fs 3o =3 500 =9 9
H ST 21T, 1 SHRT ATH TTA9rd 4T 2Iar?
(2)10.5% (b)10%

(c)5% (d)8%

73. If an article is sold at 62.5% of its current selling
price, there would be a loss of k%. If sold at the
current price, it would get a profit of 2k%. Find the

value of kK?/Tf= T F%q T 3 Ta9= (4T ToF

¥ 62.5% U I=T AT4T 2, a1 k% F gl Zrh 3tz
FAATT GoF IL 94T ATAT &, AT IH 2k% T ATH ITH

2T K 3T |19 ST hitor?
(a) 17.14 (b) 15
(c) 18.33 (d) 16.66

74. A grocer mixes two varieties of wheat and sells the
mixture at Rs 87 per kg to earn a profit of 25%. If
the cost price of the first variety is thrice that of the
second, and he has mixed them in the ratio 8: 5,
then find the price per kg of the cheaper variety./
U UHTE g Y &1 R sy AT 8 e 25% #r
ATH ASq F3A & o0 fsor 1 87 w0 uid
eI 9% =T 2| At T2el (34F0 H AR Jed
FE AT AT H A AT 2, ST IAA 32 8:5 %
AT § e 8, qr At e i at R e

ST i)
(a) 31.2 (b)34.1
(c) 32 (d) 33.6

75. If (10a3+4b3):(11a3-15b3)=7:5, then
(3a+5b):(9a-2b)=?/41G(10a3+4b3):(11a3-15b3)
=7:5 8.dl (3a+5b):(9a-2b)=?

(a) 10:13 (b) 5:4
(c) 3:2 (d) 8:7
76.1f a = 3b, 4b = 5¢, 6¢ = 7d, then what is the value of
d+ad—a?/9fe a=3b, 4b = 5¢, 6¢ = 7d, Al d+ad—a
D[ HIH HM % |
(a) 27/43 (b) 43/27
(c)-27/43 (d) -43/27
77.1f 5A=6B =9C, whatisA:B:C?
JfR 5A=6B=9C, AT A:B:CHFITE?
(a) 10:18:15 (b)18:15:10
(c)15:10:18 (d)5:6:9

78. A certain sum amounts to 12,456 in 3% years at
8.5% p.a. simple interest. What will be the simple
interest on the same sum in 6% years at the same

rate of interest?/us fAfara wrfer 8.5% arfer
TTETLOT AT U< 3% T0T & 12,456 T 21 AT 2
THTH T I¥ 6% a9 H THIH AT a7 H T
AT AT 2rmr?
(a) 5,100 (b) 5,046
(c) 3,060 (d) 5,240

79. If a sum of money at simple interest becomes 11/8

times in 7.5 years, then it will become 19/12 times
in:/T 2 FTE &7 AT AT 9¥ 7.5 99 & 11/8 AT
2 ST 2, 91 9 Braa a9 # 19/12 7471 21 ST
(a) 9 years 4months (b) 12 year
3months
(c) 10 years 9 months (d) 11 years 8 months
80. A and B can together complete a task in 18 hours.

After 6 hours A leaves, B takes 36 hours to finish
rest of the task. How many hours would A have
taken to do the task if he worked alone?/A 3% B
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81.

forerre f3reft 1l i1 18 = § U7 X HHd 21 6 H<
13 A FT FIE 24T 2, B AT F1 T T4 F34 § 36
S ST 21 FfS A el T AT 2 Al I H B
¥ o e er?

(a) 54 (b) 45

(c)21 (d) 27

A, B and C can do a work separately in 18, 36 and 54

86.

ST?
(a)4 (b) 3
(c)2 (d) 1

8 men or 12 women can do a piece of work in 24

82.

days, respectively. They started the work together,
but B and C left 5 days and 10 days, respectively,
before the completion of the work. In how many
days was the work finished?/A, B 3fI¥ C 39 -311TT
T T %M FHT: 18, 36 ¥ 54 T & ¥ T 2l
Iegid U AT 1 ¢ [T, Ao 9 QT 21 |
U B i ¢ F wmer: 5 2 3w 10 foT g R

i T ot ® |um game
(a) 25 1/7 (b) 50 1/7
(c) 35 5/7 (d) 40 5/7

John does % piece of work in 3 hours. Joe does % of

83.

the remaining work in 1 hour and George finishes
remaining work in 5 hours. How long would it have
taken the three working together to do the work?
ST 3 5 H SATET FIH FXAT g1 ST AT F 6 %
AT 1 % H FXar g Sii¥ STist O 1 &1 5 5 § 920
FIAT 2| AT (HART IH A il A | [ohadT G097
Ad?

(a) 2 1/7hours (b) 31/7 hours

(c) 3 8/11hours (d)28/11

A man walks at an average speed of 3 km/hr from

84.

his residence and reaches office 40 minutes early. If
he walks at an average speed of 2 km/hr, he
reaches 40 minutes late. What is the distance

between his residence and office?/T EHT T4
ar & 3 fEfiy/ser $t siea fa & Fetar 2 i 40
e Tgs e ug=ar 2| 7fe ag 2 fr/Eer f
Sl q T | FdT 2, a1 a8 40 e 3T | 9g=dr 2|
L s I e 2 2 K M B e ) e R B e T A

(a) 6 km (b) 8 km
(c) 10 km (d) 12 km
A car travels from A to B at a speed of 40 km/hr,

85.

travels back from B to A at a speed of 30 km/hr and
again goes from A to B at a speed of 60 km/hr.
What is the average speed of the car?

U F1L A H B T 40 Ffi/ser & wfa & am=n ==t
2, a9 B | A T 30 fefiy/ser it srfa & == w2t
2 3w T T A & B T 60 /st it wfa & st
21 T AT | T T 2

(a) 130 Km/h (b) 42 km/h
(c) 40 km/h (d) == km/hr
What is the smallest natural number from the

following which must be subtracted from 9410 to
make the remaining number a perfect square?

Fatfaa § 9 92 i1 @ 999 =i Ik 9=
2 59 9410 § & FaTH 9T 99 HEAT Uk I a9 o

87.

days. In how many days can the work be done by 8
men and 12 women?/8 =Y aT 12 ¥iZ=md FFt
FTH AT 24 AT H 2 T 1 8 THOT 3% 12
HIZATsH 51T w1 1 oA faat & =1 o s
HehdT %?

(a) 12 days

(b) 18 days

(c) 24 days

(d) Cannot be determined

A car takes p minutes to travel a distance of 350 km

88.

with an average speed of u km/hr. Another car
takes g minutes to travel the same distance with an
average speed of v km/hr. If u-v=5 and g- p= 140,
then what is the value of u?

U 1T 0 u FohHT/=eT it sirad Tfa & 350 et &t
T T A H p (0 &0 £ U o F v
Fret/eer f sieg TR ¥ T g aa FA H g
fie ot 81 afE u-v=5 3T g-p= 140 2, AT u FT A
FT 82

(a) 35 (b) 30

(c) 25 (d) 20

How many minutes are there in x weeks and x

89.

days?

X THTE 3% x o & oo+ faqe 2ra 82

(a) 11520x (b) 5760x

(c) 480x (d) 192x

The arithmetic: mean and the geometric mean of

90.

two positive numbers p and q (p >q) are Aand G

respectively. Which one of the following is correct?
SRV OTE: &1 AT HEATell p 3f¥ g (p >q) &1
HTLT T SATTHT ATET 0T A 3T G 2l
aforfaa & & %19 91 U 98t 2?2

(a) A>G (b) G>A

(c) A=G (d) A? =G

A shopkeeper marks the price of an article at

91.

@200. After allowing a discount of 10%, he still
gains 20% on the cost price. What is the cost price

of the article?/T®F THIAGIL T 9&q I HeF 200
I ST AT 81 10% Y g2 39 % arg ot 39
ARTT T T 20% FT ATH AT 21 T& FT 7T JoF
FT 22

(a)170 (b) 160

(c) 150 (d) 120

A person borrowed 9,000 at 7%, 712,000 at 8% and

15,000 at 9% simple interest per annum. He had to
pay ®50,700 at the end of n years. What is the
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92.

value of n?/T =xfxF 7 9,000 FIT T 7%, 712,000
®IU T 8% 3T 15,000 T 9% HTETLIN 4TS I T
T 3T o117 n a9 F 3 § 50,700 FIT FHT
SETAT H¥AT 971 N 3T AT AT 22

(a)3 (b) 4

(c)5 (d)6

Consider the following statements :

93.

1. The sum of the cubes of three consecutive

natural numbers is divisible by 9.

2. Every even power of every odd number (> 1)

when divided by 8 gives 1 as remainder.

Which of the above statements is/are correct?
|2 s M B O B i R

O e A P T s R L e e K e 2 s
s |

2. T AT HEAT (> 1) 1 I4F 71 A0 F 8 &
e # a¥ 1 99 s=ar 2

A e e s 1 e o Vs s P T T

(a) 1 only (b) 2 only

(c)Bothland?2 (d) Neither1 nor2

What is the number of divisors of 1000 (excluding

94.

1 and 1000)?/1000 (1 3T 1000 FT FIEHT) F

TSRt i1 JemT =1 2
(a) 12 (b) 13
(c)14 (d) 16

A piece of cloth costs Rs 10,000. If a 2 m longer

95.

piece of the same cloth is purchased for the same

amount, it would cost Rs 250 less per metre. What
is the original length of the piece of cloth?/F9g %
U 2 il FHT 10,000 FOF g1 T IHT FUL AT
U 2 HYeX SaT SheT SHT 19 | @EET JArdr ¢, af
SHht FIUA 250 T T HeT FH 2R FIE F

THs I g AdTS T 22
(a) 8m (b) 10m
(c)12m (d) 16m

What is the condition that the roots of the

96.

equation ax’ +bx+c=0 are in the ratio c: 1?
(a)b’=a(c+1)*> (b)a’=b(c+1)’

(c)b’=a(c-1)>  (d)ab®=(c+1)

A train X takes 2 hours less than a train Y to cover a

distance of 192 km between two cities. Their

average speeds differ by 16 km/hr. How long does
the faster train take to cover the journey?/Ta & X
R o e T o 0 1 O . s - A
2 ¢ FH FHT Al g| IA0! 3Ed I H 16
Torei/eeT T ¥ 81 AT I Aol 3 ATAT T 9

97.

R e B s s e R K W

(a) 3 hours

(b) 4 hours
(d) 6 hours

Consider a question and two statements:/ Ts I

(c) 5 hours

98.

| R 1 G A R e | K

Question:/ 94T

Is 3x +2y positive?/ FAT 3x +2y HFHIHS &2
Statement-| : x° = -29.8/ F¥H-1: x° = -29.8
Statement-Il : y° = 3x/ FIF- I: y° = 3x

Which one of the following is correct in respect of

the question and the statements?

(a) Statement-I alone is sufficient to answer the

question/ FIH- | 3hel T 3T 39 24 % foro waig
g

(b) Statement-Il alone is sufficient to answer the

question/ FAF-TG 1T 3Tt T=T T ITAL o & ToIT
AT €

(c) Both Statement-| and Statement-Il are together
sufficient to answer the question/ FI-1 3H¥ FIA-
|| ST Ty I57 7 I 3 * forw aig &

(d) Both Statement-| and Statement-Il are not
sufficient to answer the question/ -1 3% FIA-
|| ST T%7 T ST 3 % fol0 T4 T2t &

Consider a question and two statements:/ T I

| R T G A R e | K L

Question :/ T4dT :

Does the equation ax’ + bx + c=0 have real roots of
opposite sign?/ FAT THIFLIT ax’ + bx + c=0 F
ATEdta® qo [@AId =ed & 872

Statement-I : The discriminant D> 0/ %9~ .
ez D> 0

Statement-Il : ¢/a>0/ FIA-Il : c/a>0

Which one of the following is correct in respect of
the question and the statements?/ oo & &
I AT T 3HT FIF o Aol § A2t 2?

(a) Statement-| alone is sufficient to answer the

question/ FIA- | 3T I FT L 249 % [0 TA1H
2

(b) Statement-Il alone is sufficient to answer the

question/ FAA-TZ1 rF I7 7 392 24 % o0
RRITi
(c) Both Statement-l and Statement-Il are together

sufficient to answer the question/ FI-1 3T FI-

|| ST A w1 7 39T 3 % oo qaty #

(d) Both Statement-l and Statement-Il are not
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sufficient to answer the question/ F-I 3T FIT-
|| ST T T 39 24 % foro g ig 981 2

99. Consider a question and two statements/ T I

B R e i I | R i | N

Question : Is a® +b* +c? —ab—bc—ca(a, b, c are

distinct real numbers) always positive?/ %I : T a*
+b? +c”> —ab — bc — ca (a, b, ¢ f9= aEafa= d@eard g)
Eﬁ?ﬂ' PRIRIED

2Idl 22

Statement-I: a>b>c/ FIA- |: a>b>c
Statement-l:a+b+c=0/F¥A-ll:a+b+c=0
Which one of the following is correct in respect of
the question and the statements?/ A& ferfaa & &
I T T2T 37T FAA F Gae § T2l 22

(a) Statement-I| alone is required to answer the
question/ FIA- | 3t T FT 3T 24 % [T

EICERED
(b) Statement-Il alone is required to answer the

question/ YT T ST o oI 3Tehel HIA- || T
AT AT
(c) Both Statement-I and Statement-Il are required
to answer the question/ FIH- | 3T FIH- [| AT T
i e e O L | 2
(d) Neither Statement-I nor Statement-Il is required
to answer the question/ %I &1 3L & * fo(@ 9 a7
- | ST T & FAA- || T AT9AHAT 2

100. Consider a question and two statements:/ T I
A e 02 G L K I i | K 1L
Question : Is (x° + v*)/(x* + y*) always greater than
¢+ v/ 08+ vA)2/ T AT (X0 + v/ (X + v?) BHeT
(x* +y*)/( +y*) A FET 2T 22
Statement-| : x>y/ FIA- 1 : x>y
Statement-Il : x> + v > 2xy/ FIT- II: X2 + y2 > 2xy
which one of the following is correct in respect of
the question and the statements?/ Fafefaa & &
FI AT T 3iT FIF F Aol § 2t 2?

(a) Statement-| alone is required to answer the
question/ FIA- | 3t I FT I 29 5 [0

EIEERED
(b) Statement-Il alone is required to answer the

question/ I°T FT I 2 F {17 3rhel FI4- 11 T
SIEEREXNI
(c) Both Statement-I and Statement-Il are required

to answer the question/ &I4- | 3T FoIT- 11 1 9T

i e e 0 AR | 2 G

(d) Neither Statement-I nor Statement-Il is required
to answer the question/ %1 &1 3T a * o0 T a1
FI- | 3 T Y FAA- 1| £ T97hedT &

.40. Two partners A and B start a business by
investing Rs 50,000 and Rs 40,000 respectively.
What will the ratio of their profits at the end of the
year?

20 AT A 3fT B FH9I: 50,000 T ¥ 40,000

508 2 1 1 e e e L e K 2 B Gl s W e s e
S | I ATH FT AT FAT 20002

(a)5:4

o =5
» w
w1 [e)}

(oK
<
w
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De’.’ehcemurum

CDS MATHEMATICS TEST PAPER-0804
ANSWER KEY — 08/04/2023

L [A 2L ]C [4 [B [6L[B [8L |D
2 |B. |22.|C |42 |D |62 |D |82 |B
3 |C. |23 |B |43 |B [63.|D [8. |C
4 |C. [24.|C |44 |A |64 |B [84 |D
5. |[C. |[25.|D |45 |C |65 |C [8. |A
6. |B. |26. |A |46. |C |66. |D |86 |B
Z |D. [2.|A [41. |D |67 |B [8L |A
8 |D. |28 |C |48 |D |68 |B |8 |A
9. |C. [20.|D [49. [A [69. |[A |82 |C
10. [B. [30.|B |50. |A [70.[B [%0. |[C
1. [C [3L|A [5L A 7. [A [oL |[C
2. [B [32.|B |52 |B |72.|B |9 |C
13. [B |33 |C |53 |A |13 |D |8 [A
1. [C |34 |A |54 |C |74 |D |9 |A
15. [B [35.|B |55 |C |75. |A |9 |B
6. [B |36.|B |56 |D |76.|D |9. |B
7. [C |3 |A [52. |D |7Z.|B |9 |C
18 |A |38 |B |58 |D |78 |A |9%. |D
19. [C [32. D [59.[D [79.]|D [9. [D
20. [B |40.|C [60. |B [80.|B [100.|C

10 | MOB: 9795977779, 9795977776 LUCKNOW, DEHRADUN ‘COME TO LEARN...GO TO SERVE...!
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